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_Connelly _® m [ _Phillips ® Koss L4
~Weir s —Santangelo ° _&r£n I —Maurer L4
-Depazzo -Woods s —Shapiro @ ~Bainum @
~Minnick o ~Donaldson (4 Skor __® _Hixson ®
Staab_______® echan ® ®Burns —Ruben L4
Bromwell @ ®White _HergenroBder _Byrnes 4
Burgess, W. ® _Blymenthal ® Pica_® _Cumiskey ®

2 —~Jones 4 Curran . @ Taylor @
~Hughes ® ] McCoy ® Beck @
Keman ___® ®McCafirey bey @ —Harchenhorn o
Medairy ____® -Vallario g Chester @ ows 4
M —— -Woifgang . ® Douglass @ Baker @
®Chamberlain Hickman, C. M. ___® _Harrison @ _Burgess, ™.
Kach __________© ilchard (4 _DiPietro [ ] —Riley, LR, ®
Alperstein » Delphe ® —Cavallare o on
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i ’ —Smith, C. E. ° _Dietrich ]
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